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QUESTION 1

Which component in Sky ATP contains a list of servers that includes known sources for malware downloads? 

A. whitelists and blacklists 

B. command and control 

C. malware inspection pipeline 

D. infected host cloud feeds 

Correct Answer: B 

 

QUESTION 2

Which two protocols are used in a Contrail system to exchange routing information? (Choose two) 

A. XMPP 

B. BGP 

C. OSPF 

D. IS-IS 

Correct Answer: AB 

 

QUESTION 3

Which statement is true about VNFs? 

A. VNFs are always physical devices 

B. VNFs are virtual devices 

C. VNFs are only used in service provider clouds 

D. VNFs are only used in data centers 

Correct Answer: B 

 

QUESTION 4

Which Juniper product will automatically add, remove, and reroute LSPs? 

A. Sky ATP 

B. NorthStar 
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C. Steel-Belted Radius Carrier 

D. Cloud Analytics Engine 

Correct Answer: B 

 

QUESTION 5

Which two statements are true regarding a zero trust network security model? (Choose two) A. It assumes that security
threat management cannot be centralized 

B. It assumes that security threats can originate inside the network 

C. It assumes that security threats can originate outside of the network 

D. It assumes that security devices cannot detect and prevent network threats 

Correct Answer: BC 
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